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Method :

* For any Compton run pick randomly two
events — repeat many times
* One event consists of two clusters —
construct a line joining these clusters
* Determine coordinates of the intersection
point of these two lines
* Draw a histogram of a distribution of
intersection point coordinates and fit it
* The fit gives the beam position at HyCal
for a given run
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X- and Y- position for Run 4943:
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Comparison
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Correlation : HyCal \ PGP
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Correlation : PGP \ BPM
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Projected beam at PGP :
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A Good Beam position run

Beam Position (mm)
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. Beam Orientatiqn At HvCALI
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A beam fluctuating run :

10 . Beam Orientation At HyCAL .
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Average Beam Position shown for various runs :
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Summary :

* Intersection method

 confirms previous method results (database values)
 error of measurement reduced by a factor of 4
compared to database values

* Definition of PrimEx reference frame facilitates,
for any run,

* determining the beam position at HyCal
* determining the beam entrance angles at HyCal

* Necessary changes to the analysis code are being
introduced to see improvements, if any ...



